N = 0l & At & Ml A

20139 = 20la LB JIEISESH s ~ 5LS
SN BYS
M s M
Sl FOMXME HASY o BOAAL X CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
LS 251,325 263,542 A12,217
Sds A A 178,220 188,340 A 10,120
FONXIME W28 & HAYAE X2 113,830 123,950 A 10,120
FURMXAEH 29 74,900 74,900 0
201 Let24dy] 74,900 74,900 0
01 At 2teltl 74,900 74,900 0
OFUXXNHH2H 74,900,000 74,900
FOEOAL XA 38,930 49,050 A 10,120
201 £B-2dH| 30,550 16,550 14,000
02 =224l 14,050 14,050 0
OFEASFUZHANAEEA 200,000& 128 2,400
OxedEgd =Y R AL 4,000,000 4,000
OF AL XIHI 5,000,000 5,000
OoEs+Ng 500,000 500
OAE 3l 50,000 50
O&=IINES 1,000,000 1,000
OANd=E SZNE2E3 500,000 500
oHldiarg = 600,000 600
03 &AL Z I 16,500 2,500 14,000
OAl2lIstEr X = T &l 14,000, 000& 14,000
OO0l MBI 2,500,000& 2,500
203 YR =&l 1,980 2,200 A 220
03 AIMFAH S =AY 1,980 2,200 A 220
OsHYSIAMFA 1,980,000& 1,980
405 XtatE SHI 6,400 4,500 1,900
01 AR ESFH S 6,400 4,500 1,900
O] 2,000,000 2,000
oz 3,500,000& 3,500
OHANEET 90,0002 =104 900
SclEtEas=2y 64,390 64,390 0
SclBEEs24 N 64,390 64,390 0
301 et Az 64,390 64,390 0
05&-cl-etEas2as 64,390 64,390 0
OF=FSE=y 200,000& x18H x12& 43,200
Oosddd= 200,000& x18H »23| 7,200
O3 oasxg 20,0003 =18 «23| x12& 8,640
Ot &Sl 50,0003 «107&H *13] 5,350
HE2IZH(ELS) 73,105 75,202 22,097




SN BYS
HH: HH2ILH(5LS)
el A2 Y (FYS) SREED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
AHRIH(ELSE) 22,655 21,242 1,413
AFoIHH(ELSE) 22,655 21,242 1,413
101 @124 H] 22,655 21,242 1,413
03 RIHLZ 22> 22,655 21,242 1,413
O BA2elegE8ARY 22,655
-JlEs 818,400 x1H 12 9,821
s 9,820,800 *1/3 3,274
-Jtit= 9,820,800% *10% 983
“ANZRIZ2RE 6,970& 1 »22A 2t 12 1,841
-s22f=+9 55,800 x1& 2L »12& 1,340
=58 37,2008 x 12«52 1,935
-HRsEFRIITE 37,200 x1& »15¢ 558
-dAg Al 80,000& «1H «12& 960
- SE X 60,000 «1H 128 720
-EE2F0tl 818,400% x60%*22] 983
-tEg 20,000 «1H 128 240
[2ZH(52S) 50,450 53,960 23,510
I2HH(5YS) 50,450 53,960 ~3,510
201 fEt2E | 25,590 26,680 A 1,090
01 At 2t 2l bl 9,390 10,480 A 1,090
ORN2ZE AtR2telt] 9,390,000& 9,390
02 524t 16,200 16,200 0
OIS 11,000,000 11,000
Odol=s= 1,200,000& 1,200
oRER= 4,000,000& 4,000
202 O 4 15,240 17,360 ~2,120
01 S LHOYI 15,240 17,360 A2,120
O2AAEE0HI 1,800,000& 1,800
OJl2ge=8otl(7Y) 13,440,000 13,440
203 R =& 9,620 9,920 A300
01 J122gg 24| 6,600 6,600 0
OJa#2gg=qdl 6,600,000& 6,600
02 Z3otatg 2=AH| 320 320 0
O 2T 40,0002 8% 320
04 FAE2IE =L 2,700 3,000 A 300
ORM2YREXHI(1521015t)
225,000 122 2,700




